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QUESTION 1

IBM BPM offers which read-only system variable to access the information stored about an exception that occurred in
an instance of a service?

A. tw.object.Error

B. tw.system.error

C. tw.object. XMLElement
D. tw.system.step.error

Correct Answer: D

QUESTION 2

A shared object is passed by reference from a process to two different services. The process and services
each contain a separate copy of the business object. When the first service completes, the shared object
values are automatically persisted to the data store.

Which statement is true regarding the second service?

A. When the second service starts, the shared object values are automatically loaded from the data store.

B. When the second service starts, the shared object values still refers to the copy of the business object it received
from the process.

C. When the second service starts, the shared object values have to be manually loaded from the data store.
D. When the second service starts, the shared object values is passed by the process again.

Correct Answer: D

QUESTION 3

Which statement is true regarding IBM BPM capabilities to support structured and dynamic processes?

A. It only supports dynamic processes using ad-hoc activities. Structured process models are not supported.
B. It only supports structured process models with a defined sequence of activities following the BPMN

2.0 notation.

C. Process applications must include one structured process model, but additional ad-hoc activities can be added if
desired.

D. It supports structured process models using the BPMN 2.0 notation as well as unstructured processes using ad-hoc
activities.
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Correct Answer: B

QUESTION 4

What is a valid logging command to print log statements to the client-side browser?
A. print.log("\V'info")

B. debug.log("info\\'\\')

C. client.log("\Vinfon\'\\")

D. console.log("\Vinfo™)

Correct Answer: D

QUESTION 5

Which gateway can be used for a service flow where more than one path can be followed for a specific process
instance?

A. Event Gateway

B. Parallel Gateway

C. Exclusive Gateway

D. Decision Task Gateway

Correct Answer: B
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